BB R RS

A SR BB B S ) P B
RS R A Ry 4R e A T PR
2R R} 20254FE 8 H)
SR AHE :
£—Ebfn : K

) FAEEEERAVER-—-IDE - BOA ~ A ~ IRARFEER

2) Zon—RITEA R HIER------IIRCRHTTA ~ RAJHTTA

3) — I RAER T RAEN - BAENA

4) FEEARK P HARIEATERTTT ~ MBEERSEET)  PITEAR

5) RSB RRARR - FIRARERADBEGE2TFHAR -~ FHEAR)
TFARAGE ~ A

6) D2 HRVEFERN B - BRER

7) BT BRI R - AR AR EE

8) —IL_RITTERHEM - f#—IT ZKGIE

9) —ek¥ - ZRRBEHEIEAMEE

10) EE-—-T& EOEREEE - 1 - 28 - 68 - =8

LY © 48T
1) ST - IS ~ (RIS

2) ZAR-----=SAEEANE - £F=APIHE « WioeH
3) MUEK------FTUEPHIHERHAE
4) ZBW------LBNNARN - ZEPHINEN - E2ER




S) At FATU M RIS ~ AT AR L P
6) = TR ~ BROZGEI ~ TEVIE © RO ~ IR TR G
7 TR - B - [ YA

RPN EH

FHE 1 2% 10053 0 2 S0 LA LTRSS
ZEIG ¢ 90 S35

R : SETERE - ST - SEURE

SRR ¢ B2 EERCE T SRR~ THD ~ SUERCE ~ D (NREE Bk D)
B 0T B — M~~~ PR =M (NREE R
BER ST (B AfLAR )
s 2 T E _EBEER S SRS
(AT AR FABE B RS2

WHXR  EeFETE - =mR - 5tEH - 8ok - B




BEEFRFERRR

AP S R s S ) R B ZS
BB ER A S | 4 et
BER Bl (2025 4E 8 H)

H RS alie i Y
—. HHIERE ¢ (38%)

4015 (1) RS 4x -9y = (2x+3y)(2x —3)

2% —15x+7=02x—)(x-7)

(2) cos?10°+sin*10°=1

(3) ZAcBcC: || AuC=C

Fere 1 ALz, B
@) Sy =] AR v~ > Hx =105 p= V3

—. 5TERE ¢ (50%)
1. f#RHFE: 2%*—15x+7=0
2x2—-15x+7=0
fig:  (2x-1)(x-7)=0
2x—1=0 or x—7=0

1
= or x, =7

i =% or x, =7 BRI

iy s—d=l o)
2l {x+321 (D)

it © (DTS x—4<1 I 3

LS -2 5
YHQE  x+321
o X2 =2

—2<x<5  RIRERUIR.

\ 4




3. {BfEE:  (a+2b)a—2b)-(a—b)

g H= a’-(2b)* —(a’ -2ab+b*)
= a> —ah? ~g* +2ab—b"
= 2ab-5b*

a’+4a+3 a’-1
a*+a—-6 a’—6a+8
e (@ D)(@+3) | (@+D(a-1)
- R (a+3)a-2) (a—-4)(a-2)
_(at)a+3) (a-4)(a-2)
(a+3)a—-2) (a+)(a-1)

:a—4

4. {tfE:

a-—1

cos 60° —sin30° 4+ cot45°

5. Ak : +5in45° e cos45°+ cos? 32° + cos? 58°—1
1+tan30°e tan 60°
g i NG
)
ﬁg }?:IT:E: 2«/§2 7'—+1-1
1+—0J§
3
=l+l+1~1
2

6. AHETEH  Ksin(10°+86) = cos® PRI O HY{H
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